A GUIDE TO MATHS AT
KINGSNORTH

Within this powerpoint, I will try to show you some of the methods we teach

and 1n what year groups they are taught. I will hopefully also go over how to
teach other areas of the curriculum as these are areas we know may be slightly
more difficult.

We know that the way we (parents and teachers) were taught 1s different to
what we see now and so hopefully, I can provide you with the methods all on
one page.

The main thing you can do with your children 1s to make sure they know their
times tables. This 1s the most important knowledge you can give your children
as 1t underpins most of the Maths curriculum as they move through the school.

This can be taught by singing songs, T'T Rockstars (year 2-6) or
www.timestables.co.uk.



3x3=9
or use repeated addition
3+3+3=9

2 + L} ARRAY

An array in maths is an
arrangement of objects,
numbers or pictures in
columns or rows. The
TENS FRAME purpose of an array is to
help children understand
multiplication and division.

There are 3 groups of 3
apples.

As you'll see below, a
ten frame i1s a two-by-
five rectangular frame

This also works when
using division as I can do

_ : 9+3=23
into which counters are
placed to demonstrate YEAR 1
numbers less than or -
equal to 10. Counters
can be arranged in
different ways to The Part-whole reasoning or model is the
represent different concept of how numbers can be split into
numbers, which visually PARI-WHOLE parts. Children using this model will see the
help your children Number Facts to 10 relationship between the whole number and
develop strong number . the component parts, this helps learners make
SEnsc. 10 10 the connections between addition and
ofelelele] o - I5 SN® oNS subtraction. This can be linked to bar models
o Ll B 10 10" by placing the values next to each other.
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Number Bonds
cdlso Known s
Fact Families

Base Ten Blocks

Which shuws@ 7 A ddlfl?n

3xdisthesameas3 +3+3+3

What is the number? or

33
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Oram- the bar model and wrile the nuwmbe menbence b werk Draw the bar model and write the Aembe- srtence be work
el the answer lor thes problem. Jus tha answer tor this proddam.

2 carpark How many whesls is
Hirw much, monay has fa saved?

hia?

There am b cars @nd 3 matorbikes in “ Fraddy gets £17 pocket momay ewvary month
. Ha saves his pockat mumey for S mumths
=%

7 x 86 =602]| 4 x 62 =
F A ;o\

80 6 60 2
(7 x 80) + (7 x 6) (4 x 60) + (4 < 2)

7 ‘560‘42“ 4 ‘240‘8 |

560 + 42 = 602

If yvour chuld
struggles with a
method, go to the
previous year group
and buld up to
these methods. The
aimis to buld their
confidence to get to
the most efficient
method.

2nd Step

123
5

Move the digits. If it 1s 10, link to the fact 10 has one zero so
we move 1t 1 space. If 1t 1s 100, there are 2 zeros so 2 spaces
and so on. Multiplication the digits move up the place value
and division they move down. Remember the decimal point

does not move and remains next to 'ones' or 'units'




Number Bonds
dlzo known as
Fact Families

Number Bonds
also I'«'ruc:-wn- as
Fact Families

A bar model can show how the parts of a problem are related.

C lete the bar del
N toc’;gwt;; :rizes r;:ticﬁad g g mg

into 5 equal groups.

20 prizes

: Column method
In year 4 reasoning, get the

children to underline the 5 6 7
important information and circle +
the word that tells them what 1 ; 9 9
operation to do. Answer each —_—
sentence as some questions will
be two steps. Use your written
methods to show your
calculations.




Multiplying Decimals by 10, 100 or 1000
When mulliplying = decs ] Eoack digit meves the mecssany
0. 100 or 1000, the viabee of each digit is  samdver of places To The Defll oo
s iplind saltiplying By 100 200 ar 2000
ircrenes the masrnber

3.02x 10 = 30.2 | { [!_;{.[g-ﬂ_.“
3.02 x 100 = 302 : o2l
20% x 1000 = om0 - 0 2] ”: By vyear 5, your child has been introduced to all the
Remember: B— - most efficient methods but the values become bigger
and the reasomng questions involve more
- steps/processes. They must link their previous

knowledge and skills to work out the questions.

123 x 45

1st step
123

x 45 Finding fractions of an amount using bar

615 (123 xX 5) models
e

2nd step _

123
2

Sami has 12 balloons., of tham are grean. How many are green?

3
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Q {because we are

multiplying tens)

Short division 3rd step
98 + 7 becomes 432 + 5 becomes 123

L g 6 r2 x 45

615 (123 x 5)
7 9 5|4 3 2 _4§zg_(123x40)
o

35 (615 + 4920)
I

Answer: 14 Answer: 86 remainder 2




Short division

98 = 7 becomes 432 + 5 becomes 496 + 11 becomes

8 6 r2 4 5 r1

3 5
7 504 3 2 1 1/4 9 6

Answer: 14 Answer: 86 remainder 2 Answer: 45+

Formal Long | 432+ 15becomes When dividing by two
Division _ digit numbers, always

. write the times table
11r3 .
25278 down the side. You can
-25 | work this out by using
028 repeated addition which

- 25 you learnt in previous

3 years. This way you don't
have to hold the times

tables in your head.
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Fraction = mumnber of parts / total parts Numerator

Fractions FRACTIONS 2 3
— = 1 Whole == = 1 whole
L 2 3

Every fraction has a numerator that equals the
munber of parts we have and a denonunator

equaling the total munber of parts in a whole. .
Denominator j

EQUIVALENCES

Fraction walls are useful to see equivalence. As we move up the year groups, we will use our
mutltiplication and division facts to work this out.

3 $ a2 8 4 +2=2
A LR 8 =2 =4 What ever you do to the top,
T @ @ T Z- 3" % E> E> you must do to the bottom
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Use of images helps to convert fractions from mixed munber
to improper fractions and vice versa. Here's how I do 1t

wteroir s venornmr | Mixed Number 2% | o e
) )
Z — 21 G 2x6 =12 (Ido this because 1 ,6
3 3 6 whole has 6 pieces so 2 wholes ——
i : will have 12) and thenT add the 4 £

parts.
' i Opposite way, I say to myself '"How many times does 6 go
immto 16?' The answer 1s '2' with a remainder of 4, which I
put over the denonmunator.
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If the denomunators are different,
you need to find the lowest

ADDING/SUBTRACTING FRACTIONS

If the denominator 1s the same,
you simply add the mumerators

1
v

common mudtiple. The smallest
munber that 1s a multiple of the
denomunators. In this case 12.

and keep the denomunator the
same. This has been simplified
using our knowledge of
equvalences.

MULTIPIYING FRACTIONS

— ; .
' Simply nultiply
>
2 3 _ 2 X3 ;__é_b__ ~ _2_. the munerators
3 °5  3x5 15_ 5 and the
\_._-3—-" denonunators.

DIVIDING FRACTIONS
'Flip, reverse it'

- c = 4 5 2 Flip the second fraction
. o - W
4 3 =1 Reverse the operation: 4
- y’ 10 . e . .
division becomes times.
12 _4 1
10 =1 5 Simplify —"‘?_

24681002
3 6 9(12] .
4 8(12)

40: 4=

Fractions of amounts

40

10

10

0] 10

1) 1

f40 = 10
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To find fractions of amounts you nmst divide by the
denominator and thus will tell you one part. Then take this
answer and nultiply 1t by the munerator. A bar model to
show you why.

3 219 -
W [ 137313 [3 ]3]
18 +6.>
3X3:q

If the fraction is divided by a whole

- 2 number, place a one underneath the
-""""' fraction and then do the same
method. The reason being is because
X - 3 2 wholes is the same as 2
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